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1 •X 1 - 4 2. 88 + 79)7 3. ' 137 - 2 , 4 

·. X 4.2 X 5. 15.2 + 3,.,8 X 1.0,6 6,. 25.5 - I 7 -:- · .5 

7 + 4.9·2 l l 8. ,7 02 . - l.02·. . 0.=21. 9. 2.879 + 5·.249 ~ 2.54 
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2 12. 61
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.• 11 X 42_ Xi 14. 3_!. X 2½ X ½ 15 27 X·· •·· 1,01 + 3
. • 16 . 39 13 

.- al ·at the Iollo ing for x - 0.24., . =: 15 and z = 3., 
16. + - 17. 18. 4-yz 

9. ' 20. 2x· z + y 2z 21. 2 x + z2
1 .· · · 

·· ind the area. · e ,,, : :: 3.,14 and ro ·d to three digits. 

22. .quare 23. circ e
. 1d · 14 '. r,ad1u · 3..5 ft 

24., r ,c angle 25. tr.ap -zoid
l .ngth· 1,8 mm ba e, :. 30 ·. 46 m

·1d h I mm heigh _·. 
1 

12 m 

26,. 7 = 266 27. y - 10·6 ==· 29 

29'. 3c -fr- 71 = 73 

JO,. r + 2.463 = 8 401 31. 3.2.lx = 21.,5,071 1 

32. 0 3, z - 4.09 = -6512 33. 2.4y + 3.79 = 19 534 
2 5 _ 734· 3 r - 12 - 8 5 , 3 '8JS.. - 4 ·-=-

9 4 10 

36. 42 ,of 125 i hat number? 37. 2.5% of 32 1 what numb ,r? 

38. 4,8 1 6lJf of hat number? 39. 39 ~ what p rcent o · 52? 

40. 3 1 , ·hat percent of 20? 41. 17 i 20 . of ·h numb ~r ' 
362 hapter 1·0·· 


